SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 3)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

0 532878 — 421242 =

2 630143 — 320102 =

39 313285 — 303254 =

1 438459 — 6321 =

5 360005 — 60005 =

6 743133 — 103020 =

1519406 — 400200 =

8 758036 — 325035 =

9 257378 — 31240 =

100 891580 — 270480 =

1980997 — 700513 =

12) 532603 — 420500 =

13) 832366 — 20336 =

1) 948432 — 26330 =

15 801665 — 501054 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 3
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367328 — 4106 =

422487 — 221181 =

731502 — 321500 =

540881 — 100761 =

591088 — 400021 =

594359 — 113312 =

308492 — 301492 =

977041 — 727021 =

215234 — 10210 =

398392 — 335071 =

610967 — 10405 =

711339 — 411007 =

681726 — 671613 =

223929 — 201217 =

876652 — 121552 =
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